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Intellectual Property Law

Time Allowed : Three Hours

Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into
three (03) sections. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given
therein.
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u fawifea 31 foranfd= = 39 @=f # fau 7o
forega frdelt & orgER & wvAl &t g & R

241/175/310 1 PTO



Section - A / @8-

(Long answer type Questions) /( " 3T Al W97)

Note : Section 'A' contains four (04) long-answer-type
questions of fifteen (15) marks each. Learners
are required to answer any two (02) questions

on]y, (2X15=30)
AT : W T H AW (04) T 370 aer wv few e

TS U9 & T U 3 Traifia | foranfiay
1 T H T SF U9l o ST a7 & |

1. Explain and define the meaning and nature of IPR.

Discuss the International perspective of IPR.

g Gragy bR ohT SRR 3K Wepfal b aftwnfira
FT T GHY | g ey AR ot SHaQreda
A | HEiE it |

2. Explain the concept of biotechnology patent in India.
Also discuss the factors that influence the process

of biotechnology patents.

IRd § S Yrifirl &) STaURon S GHSEy| S
TRt 9o i Sferan ot yuTfed 3 T RO I

Yeh13T SIfeTU |
3. What is the need of law reforms in the area of IPR.

e T & &5 § ST H GUR H F STavahdl
2?2
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4, Discuss the role of IPR in hazardous research.

difg T R o Gehawa SIgHUM 1 fHe
! G|

Section - B / @-@&

(Short answer type Questions) ( g 3T ATl UIT)

Note : Section 'B' contains cight (08) short-answer-type
questions of five (05) marks each. Learners are
required to answer any four (04) questions

only. (4x5=20)

A2 : W @ H IS (08) Y I aer wv faw e
T UV & T uter st fraifia § | foranfeiay
W TN W e R Y9l & ST e § |

1. Discuss the types of IPR.
g T iRl & YRl w1 auid Y |

2. Discuss the TRIPS obligations pertaining to public
health.

T W@Eed & "oy § foog g & == aY |
3. What is the IPR infringement ?

YT Sootea 1 © ?
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4. Discuss the role of patent in the area of

biotechnology patents.
Sia FreifreRt & & o 9 w1 gffen w1 auia R
5. What are the elements of patent infringements.

T Iooio & acd 1 @ 2

6. What is traditional knowledge.
IR §H R R 2

7. Discuss the role of IPR in the area of food security.
TR G ® &7 | oifge gug AR @t
qftrert 1 == A |

8. What is the sui generis protection of plant varieties
of biotechnology.

Sg WEifie & owld wiie W w1 gE SAfE
U T ® 2

Section - C / @g-T

(Objective type Questions) / ( TS TIT)

Note : Section 'C' contains ten (10) objective-type
questions of one (01) mark each. All the questions
of this section are compulsory. (10x1=10)
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Az : @3 o H @ (10) T@he A T o E

T U @& e uw of fruifa € 1 3w E's

& |t wyw srfard €
Write true/false against the following :
frafafaa & am Te/eme fafa :
1. [PR are negative rights. (True/False)
Sifger Gl AR TehNIcHe Tohfd & 3TfeeR 2
(/39 H)
2. Mathematical processes are patentable under the

Patent Act, 1970. (True/False)
T gfohamd U STfuf ™, 1970 & STER We
T € | (Ec/ )

A trademark should be distinctive. (True/False)
3T A fafdre &1 =feu | (/3G )
Patent abstract is a part of a patent. (True/False)

T OR U & feem © | (T3 HA)

Discoveries are not patentable because it would
hinder the pursuit of knowledge. (True/False)

© U Iy @l € il U8 | %l @i |
qMIF T | (/39 H)
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Choose correct alternative.

wet fawes =+ |

6. A patent lasts for :
(a) 25 Years (b) 20 Years
(¢) 10 Years (d) All the above
TH YT T € -

(31) 25 9 & fau (¥) 20 91 & fau
(@) 10 5 & fag (%) sWdF |+l

7. It is possible for a new product to be protected

using :

(@)
(b)
(©)
(d)

Trade marks and copyright
Registered designs and patents
Copyright and patents

All the above

Th ¥ SO & fau frafafea & swEm g
Tfera foam ST ST © -

(31) =R fa= 3R S Tge
(&) dsfiepa e iR o
(9) HTd T2 AR U=

(%) SwdFa gt
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The patent system has received fierce criticism in

the past few years because it :

(a)
(b)
(©)

(d)

Hinders competition
Hinders innovation

Enables firms to generate abnormally high
profits

All the above

T2 yuett i Uod 5 au | YR e g
2 Fifw I8 -
(31) yfafirr = e ©

(9) 7EMER & Fe@ 2

(F) 9HT €9 4 3=9 1Y S+ d & fau

ol & 99T T 8

() STga qft

For a patent to be benefitted from legal protection

1t must have :

(a)
(b)
(©)
(d)
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A scientific basis
Industrial application
Market potential

All the above
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We & FHA WM F @Y WW FH & fAU
AT &

(37) SR SR

(9) i 7ee

(§) SR <kt &Hdl

(T) SHIE wi

10.  Where is it possible in some instances for a patent
to be extended :
(@) The automotive industry
(b) The computer software
(¢) The pharmaceutical industry
(d) All of the above

H9e ®

(31) HieT =med =AM
(9) HF HRAI
(|) <ar 3Em

(T) ST G
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